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B =n,+2n,
AR G-2)15

n=n, +2n, +1 (5-3)
HG-D A G-3) AT
nyo+n, +n,=n,+2n,+1

e 15 1

no=n, +1

2. B Z X0 = XA R

S84 T SR I OB R P R RR R T 2 9 U

N, —RREEE N b HEE 28 — 1 AN T U RR i T U, X — R
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n Hfﬁ
A

(a) — Rt (b) X HERFR (¢) ZXHERFR
5-8 ZXRHsERRK RG]

© (b

59 X

i 5-1
class TreeNode () : # T R A
def init (self,val, lchild=None, rchild=None) :
self.val=val # X2 E
self.lchild=1child T
self.rchild=rchild $ A &%T

def Creat Tree(Root,val):

if len(val)==0:#Z& k&M val IR P HEIHZ T

return Root
if vall[0]!="#":### Root.Root.lchild.Root.rchild 3 4~k s

Root = TreeNode (val[0])

vals.pop(0)

Root.lchild = Creat Tree(Root.lchild,val)

Root.rchild = Creat Tree(Root.rchild, val)

return Root# A YIS IH B3R (7] 45 b — YA J2% 449 3 4 1) A 1) AR 45 A
else:

Root=None

vals.pop(0)
return Root# 4 K 1% 5 B3R [F] 45 [ — UK A 2 4 35 40 B4 A0 118 AR 485 osi

H S

if name =="' main_ ':
Root = None

strs="- x a# #b# #cH# "#HITE YR S5
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vals = list(strs)

#1259 B A

print ("FRIFMEHATEFS] : \n%s\n WA XM, \n" 3vals)
Root=Creat Tree(Root,vals)#Root AR 2 AR (14— SUAR A AR 4 A

IR REA T R T PR .

Tt P 40 2 ot T P 50
[l_l’ v l, lal’ l#l, l#l, lbl, l#l’ l#l, lcl, l#l, l#l]
A JE 1Y — SUA

MR I8 1745 R AT LAA B A ol B8 7 2 FATT 0% 2 R Ol X — DD AR 4 2 7
THRHL A H 58 LAY, A SRAE TS B 3 AT A 57 9  SOR 5 3 OR L R0 N T OB e R
Fob 7 7 1) Bt A Sz 9 45 B S T2 B Fe P 1) sk st SOR A3 I

524 _XWHBHA

i 7 SR SR R 4 — R D ) SO 8 R A &5 S ELRE A A AR ] — R
CUF ) &35 ] B A o0 T B 22 45 o5 00 B4 (8 s L R ) 3l g 2 — SO e o R A
A5, I HAMRLZLBR R . 7 X v 2s kit 2 — AN E S o i i,
T U — AR R S5 A, A S AR v B AR A BT AR B — A R B M
R G % o DA SR 4 25 A He g 7 ) 1) 56 J5 O 9 ke o 45 31— S R P 4

A3 AT OB B S A R AT, — AR AR S T U AR S L TR A TR 3 AN SR A
ST, A4 DL R Ros Ui A AR 45 55 3 [y 22 4% F 5 A7, W AT A DLR
LDR.LRD.DRL.RDL.RLD 6 Ffiiii Jj IR ¥ . #5764 A+ B0 J5 k¥ b R e e A2 )5
A7 WACA T 3 R B, 43 50 FR Ry B 3 1 L o e ki 1O e

1. BIFiE A

I 36 3 38 UE 2 ST 3R Oy« o SO AN S U E AT R B4R .

o Vil MR 45 A,

TP AR

° H Y AR

A8 X SO B AR S i S SCRE % DR 90 1T 3 T Y 3 A S, AT LS A
i) Python I B H 1,

5 5-2

class TreeNode () : # — X 45 &
def init (self,val, lchild=None, rchild=None) :

self.val=val # SR I &5 s (E
self.lchild=1child LT
self.rchild=rchild th T

def Creat Tree(Root,val):
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if len(val)==0: & 1L &M val 5 F A8 58 T
return Root
if val[0]!="#":### Root.Root.lchild.Root.rchild 3 4~4% s
Root = TreeNode (val([0])
vals.pop(0)
Root.lchild = Creat Tree(Root.lchild,val)
Root.rchild = Creat Tree(Root.rchild,val)
return Root# AR i IH 23R [0 45 b — IR A |2 14 1 I i AR A9 A 45 A
ellg@d
Root=None

vals.pop(0)
return Root# A8 YK I BLIR 0] 45 | — YA 2 44 15 4 B4 A 40 A 245 01

def preOrderTraversal (root) :

if root is None:
return

4 124 7 R A AR 2 R
print(root.val, end="")
# T 3l T A A
preOrderTraversal (root.1lchild)
45 T i A7 TR

preOrderTraversal (root.rchild)

if name =="' main_ ':
Root = None
strs="- % a##b##cH# "4 [T E YR KT
vals = list(strs)
# 1 J5 A 7 — B
print ("R P E B ATF )T \nss\n M@ Z XM, \n" svals)
Root=Creat Tree(Root,vals) #Root H B4 A i) — S A AR 45 &
print (" X B RTFEE J45R R s \n")

preOrderTraversal (Root)

BIAN AT 5-9 B 7m B9 SR $5 i i D 19 5 12 U0 A tR 485 s A 02 — x abe
IR F BB T AR R PR

T A4 2 Fh R T8

['=", "% 'a’, "', "#7, 'bY, 7, #', el 47, 4]
Fa Y = SUR

U BT T 45 2R

- ¥ abc
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2. RFiEHh

PR 3 I A8 0E R SR 3 U AL U AT R SR A
o AR I 2T

o Vil AR A,

o HBh T A T

JH Python i H iR EIEWT .

1 5-3

class TreeNode () : # XA
def init_ _(self,val, lchild=None, rchild=None) :
self.val=val # X2 i E
self.lchild=1child # 7t F
self.rchild=rchild tH % T
def Creat Tree(Root,val):
if len(val)==0:#& k&M val 51 R MEHE % T
return Root
if val[O0]!="#":### Root.Root.lchild.Root.rchild 3 -4
Root = TreeNode(val[0])
vals.pop(0)
Root.lchild = Creat Tree(Root.lchild,val)
Root.rchild = Creat Tree(Root.rchild,val)
return Root# /8 K3 A IR Al 45 I — YR A )23 4 2 G- 1) AR 179 AR 445 o5
cllse:
Root=None
vals.pop(0)
return Root# A YK IH B3R [ 45 I — YA J2 44 3 A PR AR (1 AR 485 A0

def inOrderTraversal (root) :
if root is None:

return

# 4% T 3 T 72 F B
inOrderTraversal (root.lchild)
# it 20 U5 [B) A ARG R
print(root.val, end="")

# 4% T 3l T AR

inOrderTraversal (root.rchild)

if name =="' main_ ':
Root = None
strs="- % af #bo# # c# # "# I 1Y R A = U P51
vals = list(strs)

# 326 )1 81 1 — AR
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print ("ERFHEHATFFI]: \n%s\n A XM, \n" 3vals)
Root=Creat Tree(Root,vals) #Root ?}E%%*’QEE’J:KWE’J*&?&&
print ("R F R 45 RN \n")

inOrderTraversal (Root)

A4 X B 5-9 FIr 7 B SO BRAT H R 3l 3 DA HR B A R IR a b —c,
IR Y BB AT A R AR PR

TR 4 2 i 41

[T=', "X T, tar, HU, UET, Tt vE L vg g g g
7 1) — LR

&N S S TR R

a * b-c

3. BRiBH

Ji P 3 D3 4388 VA A SR A O A AT R R A
o %5 TR A TR

o R T DA T

o Vil ARSS A

A Python i 5 fi ik LT .

5 5-4
class TreeNode () : # R
def init (self,val, lchild=None, rchild=None) :
self.val=val # XS E
self.lchild=1child # et T
self.rchild=rchild th % T

def Creat Tree(Root,val):
if len(val)==0: & 1L &M val )RR o8 T
return Root
if val[0]!="#":#M# Root.Root.lchild .Root.rchild 3 {-& &
Root = TreeNode (val[0])
vals.pop (0)
Root.lchild = Creat Tree(Root.lchild,val)
Root.rchild = Creat Tree(Root.rchild, val)
return Root# A YK EE IH B3R |1 45 - — YA 2 4 3 U PR A 11 AR 45 A
else:
Root=None
vals.pop (0)
return Root# /R Ui IF %R Al 45 1 — YR AR 2 44 2 4 1) A 179 AR 465 o5

#IE P I, ZE AR

def postOrderTraversal (root) :



